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OPERA and MINOS Experimental Result Prove Big Bang The-
ory Invalid DAVID E. PRESSLER, Primary Nuclear Research — The greatest
error in the history of science is the misinterpretation of the Michelson-Morley Ex-
periment. The speed of light was measured to travel at the same speed in all three
directions (x, y, zaxis) in ones own inertial reference system; however, c will always
be measured as having an absolute different speed in all other inertial frames at
different energy levels. Time slows down due to motion or a gravity field. Time
is the rate of physical process. Speed = Distance/Time. If the time changes the
distance must change. Therefore, BOTH mirrors must move towards the center of
the interferometer and space must contract in all-three-directions; C-Space. Gravity
is a C-Space condition, and is the cause of redshift in our universe-not motion. The
universe is not expanding. OPERA results are directly indicated; at the surface of
earth, the strength of the gravity field is at maximum-below the earth’s surface, time
and space is less distorted, C-Space; therefore, c is faster. Newtonian mechanics dic-
tate that a spherical shell of matter at greater radii, with uniform density, produces
no net force on an observer located centrally. An observer located on the sphere’s
surface, like our Earth’s or a large sphere, like one located in a remote galaxy, will
construct a picture centered on himself to be identical to the one centered inside the
spherical shell of mass. Both observers will view the incoming radiation, emitted by
the other observer, as redshifted, because they lay on each others radial line. The
Universe is static and very old.
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